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DIPLOMA IN VALUE ADDED PRODUCTS 
FROM FRUITS AND VEGETABLES (DVAPFV) 

Term-End Examination 
C) 

December, 2017 
CD 
C7) 	BPVI-003 : FOOD CHEMISTRY AND 

PHYSIOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry equal 

marks. 

1. 	Select the correct word (Yes or No) for the 

following statements : 	 10x1=10 

(a) Carbohydrate is the primary source of 
energy in human system. 	 (Yes/No) 

(b) Water cannot be an adulterant in 
milk. 	 (Yes/ No) 

(c) Nutraceuticals 	are 	also 	called 

phytonutrients. 	 (Yes/No) 

(d) A linear chain of Anhydro-D - galacturonic 
acid is the basic structure of pectin 
substances. 	 (Yes/ No) 

(e) Texture does not get altered during 
ripening. 	 (Yes/ No) 

(f) Amino acids are building blocks of 
proteins. 	 (Yes/No) 

(g) Lipids are readily soluble in water. 	(Yes/ No) 

(h) The biological value of egg is 100. 	(Yes/ No) 

(i) Vitamin D is called sunshine vitamin. (Yes/No) 

(j) Cider is the wine from honey. 	(Yes/No) 
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2. Choose the right answer by marking (✓ ) : 10x1=10 

(a) Sap of palm trees is called Mead / Toddy. 

(b) Nutrition labelling requires precise 

physical / chemical analysis. 

(c) Oxygen concentration should be 

increased / decreased to extend the storage 
life. 

(d) Ethylene has an enhancing / decreasing 

effect on fruit respiration. 

(e) Vitamin C is water soluble / fat soluble 

vitamin. 

(f) This is a structural carbohydrate -

cellulose / starch. 

(g) Fructose is a mono / disaccharide sugar. 

(h) Pectin is a gelling / non-gelling agent. 

(i) Deficiency of iron / calcium causes anaemia. 

(j) Vitamin D is fat / water soluble vitamin. 

	

3. 	Write notes on the following : 	 5x2=10 

(a) Food additives 

(b) Phosphoproteins and lipoproteins 

	

4. 	(a) Explain the Sauerkraut fermentation. Write 	5 
microorganisms involved in cabbage 

fermentation. 

(b) What are the important changes occur in 	5 
fruits during ripening ? 
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5. Match the word in Column 'A' with Column 'B' 
10x1=10 

A B 

(a) Amino acid (i) Vitamin C 

(b) B-Vitamin (ii) Antioxidant 

(c) Cider (iii) Egg white 

(d) Calcium (iv) Sweetener 

(e) Catalase (v) Night blindness 

(f) Vitamin A (vi) Enzyme 

(g) Albumin (vii) Bones 

(h) Tocopherol (viii) Wine 

(i) Scurvy (ix) Riboflavin 

Saccharine (x) Methionine 

What is water activity ? 
	

2 

Explain the general functions of acidulants. 
	2 

Differentiate the nutritive and non-nutritive 	2 

sweeteners. 

What are types of Vinegar ? 

How do you determine the moisture content 	2 

in food stuffs ? 

7. Correct the statements by marking Yes or No : 
10x1=10 

(a) Fruits and Vegetables show a sudden 

upsurge in respiration is known as 

climacteric. (Yes/ No) 
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(b) Biogas can be used as fuel. 	 (Yes/No) 
(c) Chlorophyll content decreases during 

ripening of fruit. 	 (Yes/No) 
(d) Permanent hardness in water is due to 

chlorides and sulphates of calcium and 
magnesium. 	 (Yes/ No) 

(e) Lemon is a fruit containing high level 
of fat. 	 (Yes/No) 

(f) Potable water is not free from undesirable 
odour. 	 (Yes/No) 

(g) Fermentation does not increase the nutritive 
value. 	 (Yes/No) 

(h) Growth is a major physiological change 

following germination 	 (Yes/No) 
(i) Oil has more calories than Rice. 	(Yes/No) 
(j) Glucose is a non-reducing sugar. 	(Yes/No) 

8. 	Define the following processes : 	 2x5=10 
(a) Adulterants 

(b) Rancidity 

(c) Balanced Diet 

(d) Polysaccharides 

(e) Peptide bond 
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1. 	 .414 	Trr Tr-eff ViR : 	10x1=10 
(a) cniciTiZ, 	 tq 	d).-11 	"IT2TFITT 

told t I 	 (t-OPIcid) 
(b) 	 T)' 	 ii-mae.1 -wet 	 irrir 

tiohcll 	 (k4010d) 

(c) -UW-ke.ct)(1, 4ig4i4tfcbcicci (phytonutrients) 
iiiI 	 (41/1mo) 

(d) I'1 4:0('-14) 
tfgr-  sfim 	tmgY 
	t 	 0-16/floo) 

(e) 1:r4zrff 	t717 Tk-cill 	tlfrq"47 	• 
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	 t I 	 (4/4mo) 

(g) Trrt   	t I 	0-16/q01) 
(h) aft f1 i100tI 	 (4/ 	4 10(1) 
(i) cld I 1-1~1 %,111 (Sunshine) rad 	 

qitt1 

(j) 1-Irqt1 t 
( 	/ 4K-R-1 ) 
(t-f itp 	) 

BPVI-003 
	

5 	 P.T.O. 



2. 	f-1+-1I 1islc1 A' 	 dit  	 fiTiff 

AF-A7 : 	 10x1=10 

(a) dls W 	cW11(11 t, I-1 qtl / c111 

(b) -Ow 	T fit.  aTro.Frw t-Traw iirdw / 

(Rilq 	tluf 

(c) 3-#44.79' 	Tif0f, titrtur w1ai 	1l ftd  

rnta rciA.791. /'gra-r4 -qf-R 

(d) Tfif-07 	th- 	finqi TR 41 	<GAR / 

1cblt Vi rd Lisof t I 

(e) cid! 	It, AO Siclikl 	/ citif 

cid! 1-11 t I 

(f) "Eff 4tlir-Reb 4Am 	t - 	/ k.e.14 	

(g) 3F4tg, 4111 / siOtmis 74 -IT t I 

(h) -4fAZ9., 	/11- ,4'riit (gelling) ch ch t I 

(1) 	c 	 (Ica / 4)R11411-1 	chili *1 79111:off 	 t I 

(j) 	t, aaf / 	.57-171TF 	t 

3. I*1 14 -91ZRif: 
	 5x2=10 

(a) 	'OM 1474:1 

(D) 44e:11 3  roi-iwe. 

4. 	(a) 	tiitzitiffin- 	au 	.sight 411 fWET49' 	5 

Tzr-A-V f-otiR I 

(b) TPeri* 	 304,1 176 1:11:4 (ci  
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5. 	wog `W' cnicvi `13r 	 : 	10x1=10 

(a) *7i-grt 3-71 1 	(i) 	radIFiil 

(b) 3rt3fr-ot-*-Rw 

(c) Trw 	 7r1 

(d) MeV-1 	. (iv) lftrtri 

(e) dl 	14 	(v) 	11F71 	aitiltri 

(f) radiri-ii i 	(vi) 	 

(g)tjr-c19 	(vii) 

(h) e (4) 11
.,  

	

(1 	(viii) liRti 

(i) (-arm 	(ix) rvst19rcil 

(0 fturi 	(x) -14ti 

	

6. 	(a) 79 Isbell ITT t? 	 2 

(b) aTil**114* fl1 1-11.-41 3TWRil VF 	 2 

(c) AT* 74 3111)15W rilametql ocal T atdT 73:rzz 

.-1.f77 

(d) 11:1(k fafw 51.4)R 4)1 tf t? 	 2 

(e) -{gracKpif 9-4# 	-grr-IT 	fitiftur, aTrtr 1t) 	2 

rntd t? 
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7. 	m '-d177 -f-.  14-1 (1 (VIA' tf 	-# 	7:16117 Treff : 
10X1=10 

(a) qaw-ich 	 mo 7a' TrW 

4cbdcb K-11 	t I 	 ,H,'1t71-d7 

(b) -gzft-rT, 	(c o-1 	f*-71T 

t I 	 t1 	lI1 ir1c1 

(c) 410't 441-I 	1:114 cK.1 4-11i cWI 	Lhcsi ch 

Hill 1=TZ \31141 t I 	 TrePlcid 

(d) 	 Al T-21711-  cnaor 	chRut, 

t I 	41/4icid 

(e) -911 	1.) Lho t fit r4t 3-ucl 	cmi t 	-161P 	Kid 

(f) 1#1 	 al-tut-4 TIN Ictd  	I 	/n 	1c1 

(g) f*-1r49* -# 4141RIch 14F 	T‘di I 	 / 4 Ic1d 

(h) 44, 3 7Qitchltul3c Ilk11 -1Tal.  I'akrihtlicHch 

LiRcick t I 

(i) 	 liao it t-d'r4 	t 

(j) 317 311:19t17 (non-reducing) 7471 

ti 	 TrePlrid 

8. 	(1 (51 Tr* 1:4 T 	d WA7 : 
(a) allIftIN'T(`+ir11az1I:MO) 

(b) frfft71 

(c) TErrff 3TruT 

(d) LiTio 	cptis 

(e) 41TET-  *T (bond) 

2x5=10 
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